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1. Answer any one of the following questions : [10]

a) Discuss the dramatic significance of the introduction of the episode of Brahmacarin in the very first
act of Svapnavasavadattam.

b) Sketch the character of Yaugandharayana as a politician.

2. Translate into Bengali or English any one of the following verses. [5]
) 9 I TGHASTT:
Tl Tl AT §: @ e |

A oo I fa=ag o
o A1fd gfg: THRA ||

b) =fs draed W H=rHUfdaTgT |
37 fayH o1 =g fayHr greg @ fa )

3. Explain with reference to the context any one of the following : [6]
a) gaEudl Yo 31q @ W @ qu: |
EHAIE aq §6 §: @ ~AEe W& | |
b) GfagHl BRIl 9 T q 9H: |
Ao A fg == wafya: 1

4. Answer any two of the following questions : [2%x2]
2) TAAPTRVE FAGFOCO RYACHT A1 F 2 AGH0A (e BCF fofel 026 ToifFe fztai 2
b) ArTEMER forel @3 SIS i i feT 2
C) VIR eiiF I Ft 2 fofs eeitm @it g coitafeceri?
d) SFCTS SREC Abs ST 9fb GFed 71 (3714 |

5. Answer any one of the following questions : [10]
a) FYRLCHR LT of SRR TAA AR SR Il Whe |

b) e sttt (e IR ficafece ¢ fofq o qidM st A a[E 77 & & 90
6. Translate any one of the following verses. [1x6]

a) H: hfoer:uefl MieEmTeea |
YA el ATIGEIGRT ar: ||
b) el HIAT AT FATOT |
ST TRTATATE: JUreTas-<HiHa | |
7. Explain with reference to the context any one of the following : [1x8]
a) I PAYNE! I: FF ATCITAT A |
fadeE ARIGEUATRH AR ||
b) TSTAMEE e & arar St |
HEENUHqEEAed T 36 I 11

(1)



8.

10.
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Answer any three of the following questions : [3%2]
a) YA NRIFITR T 2 G2 N2 (NG Fowfer 79 wirg 2

b) FICsiT g N 5 2 fofey (e A0 Aeeenyi 2

C) GPITA AG=S (FI (IR 2

d) MR G A 2 7Y IR (e Ao [ Wow zfer 2

e) RS il & sifeisl fcafece 2

f) TR TR FEFG DI N S T | G0 &) FACoH SN TR (F GR SIF
Mo BIeR 1% 6 2

Name and expound the Samasa in any five of the following : [5x2]
a) gfem b) fereran O ESEIS] d) T&eq

e) TSTgA: f) gE=r=: g) TITH: h) TIMEA: |

Give the resulting form of any six of the following : [6]
a) I+ g b) &Y - = + Q. c) o + %

d) T+F+3 €) T + T f) a1t - 3 + g

g) TE +Hg h) a9 + = i) ot + T

Construct sentences in Sanskrit to illustrate difference in meaning between the words in (any two) :  [2x2]

a) T and It

b) HIRET: and HaST
) ¥ and I
d) et and e

SRR

(2)



